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1. (a) AAED, AAEB, ABEC, ACED, AABD, AABC, AACD, ABCD

@Y 8 @1CHeMeEBUd ome”
(b) (1) AAED, ABEC
(2) AAEB, ACED

2.6(x—-2)=4(x+3)
6x—12=4x+ 12
6x —4x =12+ 12
2x =24
x =24/2=12

3. (2) 10 aiosmBgss 8@ mip0gREmI@3 Mo a1InJaM alla:A6aNEBEes agemo = 10 -3 =7
(b) 2scansemdges @@ = (10 —2)180 = 8 x 180 = 1440°

4,
G380 1 GHIBo0 2
(@) x+2=4 x=2
b)) x-2=4 x=6
(0 xX2=4 x=2
d x2=4 x=8

5. QuomBges agemoe = 20
(a) 8® ayoocs0emMInad @ogal’ = 360 /20 = 18°
(b) 8® @RG:e:mEMIN] @rgal’ = 180 — 18 = 162°

6. (1)<A=<D
(2)<C=<B
(3) <AEB = <CED

7. (a) aN® X @ryocd Mige = 2X + 1
(b) ajgsar=2 (180 +aflel) =2 (2x + 1+ x) =2(3x + 1) =6x + 2
ie 6x+2=50
6x =50 -2 =48
x =48/6=8
ie @ =8cm, Mso=2x8+1=17 cm

E(a) @BHESMOMBQO aJ0oEHMINRQo @ = 180°
(b) aJooesmoeMIaad @egal’ = X
@RHEHEMOMG @rgal = 3X
iex+3x=180
4x =180
X = 180/4 = 45°
aJ0oE»amen @rgal’ = 45°

QIEEBES ag)spo = 360/45 =8




9. avoauy =x
Mol Qes 3 MESIEWIS S &SIV &IgM® = 3X + 5
TVoAIIQDS 5 MOSIEWIS’3 B0.2J0@ HIGMM® = 5X — 3
ie5x—-3=3x+5
5x-3x=5+3

2x =8

x=4

avoaly = 4

10. PQ ajo RS 90 qvmoamomEss@@1moms

<P +<S=180°
ie <S =180-60=120°
<S 0 ajooe0em = 180 — 120 = 60°
<Q + <R =180°
<Q =180-100 = 80°
<Q 93 ajooca0end = 180 — 80 = 100°

11.

12.

2.25
D 2,25

b |
I
n
[a]

AD =6.25cm, BD =2.75 cm

13. @aee cMmIgeges agemo = 11

20 @al0 cMIgHEOS a)ePo = X

5 @alo GMISHSOS ag)eo = 11 —x
@O @@alto = 100

ie 20x + 5(11 —x) = 100
20x + 55 -5x =100
15x =100 - 55 =45
X =45/15=3




20 @t cMIgHBOS af)emo = 3
5 @ald EMISHEOS ag)spo = 11 -3 =8

14. AAOC 8@ rvna10du0d] @18E:06MAIQ@IMIGI
<OAC = <OCA =32°
ie <AOC = 116°
<BOC =180 - 116 = 64° y
ABOC 8@ auna 1030l @1CH06mmem”. . ° ! gas
ie <OBC = < OCB = 58°
ie <A=32°,<B=58° <C=90°

320/ 58

L

15. (a) eooom@gos @ = 1080°
ie (n—2) 180 = 1080
n—2=1080/180 =6
ien=6+2=8
QIUOEEBEOS ag)sTRo = 8
(b) @@s1e). @:00smoe 180 6ad wsmlmaeg) 1000°.
16. A ADB ©o AADC o a1@106m1ajomd
AB = AC (@amgens)
AD = AD (®a10@010. 01000)
<BAD = <CAD (<A @es auaci=lwosm” AD)

@6ME” QIUDEEBEG0 @A EalGBAN G060 ®elRo®IMIG3 A ADB o AADC ©o @ely@16a:06measgosm'”.

ie <ADB =<ADC

2500 <ADB + <ADC = 180° (coaNwee20516:03)
ie <ADB = <ADC =90°
ie AD @o BC @o al10ay00 £lomissnse’”.

17. aNzmwead aloqmy’= x

@RWeM alay” =X + 10

@O Qldato 0NlRWH} @y’ = X + 1

@O Qldato GRRWHM alway' =X + 10+ 1=x+11

iex+11=2(x+1)

X +11=2x+2
11-2=2x-x
x=9
aNRweag alay’= 9

@RRVHMY AT = 9+10=19

18. A ABC @osgo AAED @osxo omns’ QIUOEEBGo @BRAI E2lMaN EGHIeMo @elyn®Imcs A ABC @o
AAED o @e1y(@16&06meaBgsm.

ie <ABC = <AED
DL @EHIIMEBEIDL! DLIJEHITNRHWBOING]O0QYSS Q10osEEge ®@elind®Imo@ AC = AD

ie AACD a@ aunalidodul @1GHI6eMM6,




